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D — 9sssTan
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(c) 10VS=9Ms
1VS = = Ms

10
1VS = imn

10

LC=1mm — 0.9mm

= 0.1mm (10 Marks)
(d) (1) werpriydsur euep (5 mar ks)
(i) (10-9)x0.1nm
0.1mm (10 mar ks)
(e) Tthzzhz - ndlehl (15 mar ks)
O @ glewiloy (5 marks)

(1) @usdyailue syra/wsCasresyra (5 marks)

(&) (i) 3.2cm+ 0.1mmx7
32mm + 0.7mm

32.7nmm (6 marks)
(i) 32.7n7m + 0.1mm
32.8mm (6 marks)
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(10 mar ks)
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Slawawiled e1dlyras B)méaCouemiHLd
@0y s16550a1 1960 F16585 Gewemipd  (5x3 = 15 narks)

(iii W=100N (5 marks)
(iv »F=m
F = 10x20
= 200N (5x3 = 15 narks)

(b)(i) 180 + 240xc0560° — 50v/2 x c0s45°
1 1
=210 +120x 5 - 50\/§xE

=210 + 120 — 50
= 280N (5x3 = 15 marks)
(i) 350N (5 marks)

(i) R+ 240xsi 160° + 50vZ si m5° = 350
R + 240x0.85 + 50«/5% = 350

R+ 204 + 50 = 350

R = 96N (5x4 = 20 mar ks)

(iv) » F=ma

280 = 35xa
280

a=—

35

a = 8ms™2 (5x3 = 15 marks)

(100 mar ks)
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